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Section 1 - Reasoning

No. of Questions: 50

1) Select one of the following four options that will make the second pair analogous to the first pair
given as:

Ants : Nest :: Bees : ?

A) Herd
B) Flock
C) Hive
D) Family

1) fAeAafed o fashedt & & Teh &1 Taet Y Sl g@dl SST & Igoll SiIST & HHEY SAT0aT:
W;aﬁ::nﬂﬂm:?

A gis
B) wg
C) war
D) afar

2) What is the next term in the number series given below?
57,57, 46, 46, 35,

A) 12
B) 35
C) 19
D) 29

2) 1Tl &Y 91$ HET Al H 3T T 47 572
57, 57, 46, 46, 35,

A) 12
B) 35
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C) 19
D) 29

3)57isto19as8listo

A) 23
B) 27
C) 29
D) 34

3) 57 A IR & 19 & FHal-ud g, 34 IR 81, ?

A) 23
B) 27
C) 29
D) 34

4) In a certain code, ‘731’ is coded as ‘study very hard’, ‘953’ is coded as ‘hard work pays’ and
145’ is coded as ‘study and work’. Which digit in that code is coded as ‘very’?

A) 1l

B) 7

C)4

D)9

4) Teh AR e , '731' &1 WA § ‘study very hard’, '953' T 31 § *hard work pays’ 3T '145' &1
HY§ ‘study and work’. THFATATET H & st AT HEAT 'very' &I FHe graf ?

A) 1
B) 7
C) 4
D) 9

5) Which of the following statements can be used to answer the given question?
Question : Which day of the week is today?

A) Today is not a Tuesday
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B) Yesterday was Wednesday
C) Tomorrow is not a Sunday
D) Problem cannot be solved

5) 3H THATAT R AU ot & fov Aefaf@a & & forg U F1 393197 FAT 3T TehTT &
YRaT : 37Tl HTATE T hieT 4T feT &7

A) 37TST FHITIaR FAET &

B) st qeraw &

C) Far Iqar AT &

D) e gt w16 Y ST Aheh &

6) How many triangles are there in the following figure?

A) 6
B) 8
C) 10
D) 12

6) fas=iferfad amepfd # forda agsT 82
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A) 6
B) 8
C) 10
D) 12

7) Which of the following sets is NOT similar to the given set?

(May, July, October)

A) (January, March, May)

B) (May, August, December)
C) (April, July, October)

D) (January, May, July)

7) et # & sl &1 8 QT 7T A< & AT 61 62

(HS, SIS, 3TFCeN)

A) (ST, AT, A1)
B) (#1%, 3mmea, fedeR)
C) (318¥et, TS, 3R

D) (ste1adt, 713, S[ems)

8) Which of the following questions can be answered by using the given statements?

Statements:

A) Shyam is brother of Rahul
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B) Radha is sister of Shyam

A) Who is father of Radha?

B) Who all are brothers of Radha?
C) Is Shyam a brother of Radha?
D) Is Madhu mother of Shyam?

8) feT 31T FUAT T IUANT e AFATHRT H I g TR T 3T AT ST bl &2

ho :

A) %amrlgzrasraqﬁa’%l

B) eI 2ATH T T8 B

A) rerT 7 i et &2

B) e & @str oms i €2
C) a1 9mer e 7 ATS &7
D) arar Fvey e &1 A §7

9) Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What is the
present age of Meena?

A) 12 years
B) 8 years
C) 6 years
D) 4 years

9) HIT AT & Crafeh FSY & | Ao Aol Uget, FAT MNeAr & FAareh FSY &) FeAT ¥ ATATT 35 77 82

A) 12 9§
B) g a¥
Cleay¥
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D) 4 %

10) Showing a photograph, Priya said, "he was the only son of the father of my sister’s
brother." How is that person related to Priya?

A) Brother in law
B) Father

C) Son

D) Brother

10) Teh P fer@Id §U i & e foh ag AL ST & #1S & T T TohadTo I | g SATFA ATl T
T ol9TcT 872

A) Brar
B) fRyar
C) =ronr o178
D) s&

11) Given below are four pairs of numbers. In three of the pairs, the 2nd number is related to the
first number in the same logical way. Which is the odd one out?

A) 123 - 6
B) 257 - 14
C) 235 -10
D) 712 -8

11) el HEAT3HT & TR SIS QU a0 §| et Sist &, qEdr &ar 38 difeheh alleh @ Igoll d&a1 &
TR &1 shiet €T SIST T 872

A) 123 - 6
B) 257 - 14
C) 235 -10
D) 712 -8
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12) In what way can the terms of the given set be divided into two different sets on the basis
of vowels and consonants?

(B,H, T,E,O,A M, U,P)

A) (E, T, A, U)and (B, H, O, M, P)
B) (E, O, A, U)and (B, H, T, M, P)
C)(H, 0, A, U)and (B, E, T, M, P)
D) (E, O, A, B)and (U, H, T, M, P)

12) forer alreh @ 38 To=ad 1 &l fafdest At & Tl 3R A=l & TR R gafichel FhaT ST Hehll
g7
(B,H,T,E,O,A, M, U,P)

A) (E,T,A,U)3R (B, H, O, M,P)
B) (£,0,A,U)3R (B, H T, M P)
C) H,0 A, U)X B,ET,M,P)
D) (E, 0, A, B) 3R (U, H, T, M, P)

13) What is the minimum number of cuts required to form 64 small identical cubes from a bigger
cube?

A)5
B) 7
C)9
D) 10

13) Ueh 93 EeT § 64 BIC 6l Tl & [T sGATH fehcled T sl HTARAhT 672

A)5
B) 7
C)9
D) 10

14) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Dog : Bitch :: Drone : ?

Page70f85



Setld : 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

A) Bear
B) Bee
C) Doe
D) Stag

14) AT IR fahedl & @ U T Tl Y ST @ SIS T Tgell SSY & FHET &1 ¢
el : T 2 Zhe:

A) HTL
B) Frepsrarddy
C) fagofr
D)EI'IT(»’ﬁMT

15) Read the information given below and answer the question that follows: There are six teachers
A, B, C, D, E and F in a school. Each of the teachers teaches two subjects - one compulsory and
one optional. D’s optional subject is History while 3 others have it as compulsory subject. E and F
have Physics as one of their subjects. F’'s compulsory subject is Mathematics which is an optional
subject of both C and E. History and English are A’s subjects but in terms of compulsory and
optional subjects, they are just reverse of those of D’s. Chemistry is an optional subject of only one
of them. The only female teacher in the school has English as her compulsory subject.

What is C's compulsory subject?

A) History

B) Physics

C) Chemistry
D) Mathematics

15) =i=r &Y 1S ST U6 3R 57 TdTeT &7 STaTd &

U faearery # o [A&TF A, B, C, D, E 3R F &1 Y3 187 af fasai al ygra & - e 3flary fasr
3R T dFfeus| D &1 derfous vy sfasra § e 3 31 oe &1 I8 3ifaar fawar &1 E 3ik

F & vl & & veh difadr g1 F &1 31far faw a1fora & S C 3R E g1t 7 Uk dehfous fawa g
sfoera 3R 3136 A & fTawg g, difthe 1faar 3R dofeds fawai T &, 3D & 8 fawdia £
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TS 38 H shdol Teh 1 JehioTeh (AW § | Thel H UHATT Afgell [A8Teh & ard 3fary favar & &9
# 33 &

C &7 3faary fawr =ar &2

A) gfeera
B) sfifarehr
C) =T
D) 5751

16) In a row of children, G is sixteenth from the left end of the row. If she is shifted towards the

right by four places, then she becomes fifth from the right end. How many children are there in the
row?

A) 24
B) 25
C) 26
D) 23

16) Il FI Tk Giord A, G UfFd & 910 BR A Tlelgd T R & I 39 IR TATA gt 3R
TATATIRA ThIAT ST &, Y I8 &Tfget B T grad T 91 37T Sy &1 9iFa & fhds s=2 82

A) 24
B) 25
C) 26
D) 23

17) What is the next term in the number series given below?
3,4,6, 10, 18, 34,

A) 65
B) 68
C) 70
D) 66
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17) 5frr &Y 91$ HEAT [Tl 7 373Tell UG 2T &2
3,4, 6,10, 18, 34,

A) 65
B) 68
C) 70
D) 66

18) What is the missing term in the number series given below?
34.5, 71, , 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

18) =¥l &Y TS HEAT STl H T Te FT 52
34.5, 71, , 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

19) What is the next term in the number series given below?
31,8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456
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19) 5frr & IS HEAT S[Goll 7 31Tl UG g7
31, 8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456

20) Within a time-interval a train travels 84 km whereas a bus travels 38 km. How long will the train
travel when the bus travels 95 miles?

A) 150 kms
B) 168 kms
C) 210 kms
D) 320 kms

20) Teh THT 3T o HIR Teh T 84 Tohall T Xl &, STafoh Teh 9 38 fohadT T Imar Xl g | ST
S 95 HioT & ATAT T &, dl ¢of TehcTail g3l ehl ITAT a2

A) 150 forelt
B) 168 forei
C) 210 forey
D) 320 foreiY

21) In a certain code ‘123’ is coded as ‘hot filtered coffee’, ‘356’ is coded as ‘very hot day’ and ‘589’
is coded as ‘day and night’. Which digit in that code is coded as ‘very’?

A) 3
B) 5
C)9
D) 6

21) Teh fARE e HIWT & 1123 &1 ‘hot filtered coffee’ & & H, '356' I ‘very hot day” & 9 H 3K
'589' &1 ‘day and night’, & & & ToI@T 317 §'| S8 $T9T H sl T TEAT 'very' & & H Hede 572

A) 3
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B) 5
C)9
D) 6

22) If AIR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded
as YELLOW and YELLOW is coded as WATER, then what would be the code for ‘colour of clear
sky’?

A) BLUE

B) WATER
C) YELLOW
D) SKY

22) e AIR ST GREEN & &9 # , GREEN &l BLUE & &9 #, BLUE &1 SKY & &9 # Fesey fhar

IATE, SKY A YELLOW & & H 3R YELLOW T WATER & & H fheded fhar arar g, o ‘clear
sky & TaT' &l e T g2

A) BLUE

B) WATER
C) YELLOW
D) SKY

23) In a certain code, ‘256’ is coded as ‘you are good’, ‘637’ is coded as ‘we are bad’ and ‘358’ is
coded as ‘good and bad’. Which digit in that code is coded as ‘and’?

A) 8
B) 6
C)3
D) 7

23) Ueh AT e 79T H '256' T ‘you are good' & &I &, '637' &l ‘we are bad’ & &I H 3R '358'
‘good and bad' & &9 # fer@r AT § | e A E&AT 'and' HT FHe g ?

A) 8
B) 6
C)3
D) 7
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24) Which of the following statements can be used to answer the given question?
Question :
What will be the next month if it does NOT have 30 days?

Statements :
A) Current month has 31 days.

B) Current month is NOT the first or last month of the year.

A) Only A

B) Only B

C) Both A and B together

D) Not possible to decide even with both A and B

24) T 1T 9 FI 30X ol o TolT ATl # 3 fovd Ut 1 39T ThaT ST TehelT 82

EEGH

3T3TCIT HEITT i AT B9 3R 3T 30 T Tal g1ar?

CRI K
A) TIATT A 7 31 T £
B) IdHTT HEAT aY &7 UgelT AT 3iTad HEIT TeT ¢

A) Fad A

B) %raer B

C) A 31k B gt weh @y

D) A 31k B @it & @ i 0T st G 76T &

25) How many triangles are there in the following figure?
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A) 12
B) 13
C) 14
D) 15

25) fFITef@d T & fohdel BT 82

A) 12
B) 13
C) 14
D) 15

26) Which of the following options does NOT have the same property as the elements of the given
set?

(3, 81, 243, 729, 2187)

A) 9
B) 27
C) 15309
D) 6561
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26) fFAfafEd 7 ¥ forg fashew 7 feT a7 A & dedl & FAT JOT A © 2
(3, 81, 243, 729, 2187)

A)9

B) 27

C) 15309
D) 6561

27) Which of these options can be judged from one of the remaining three options?

A) P is an even number

B) P is the square root of a number
C) P is a perfect square

D) P is not prime

27) 34 O &I AT [ashed AV et fashedl 7 & Ueh T 3TehT ST bl 672

A) P aF TEITE
B)Pwmaﬂaﬂ‘rﬂg%
Cpqutaarg

D) p 3re7re T 16T &

28) The head of the department of an office is 26 years old while the cashier is 3 years older. The
average age of all the other 9 employees will be reduced by 1 year, if these two persons are
excluded. What is the average age of the employees in that office?

A) 23 years
B) 25 years
C) 27 years
D) 28 years

28) Ueh Tl & TasmaT & ATGT 1 31y 26 ¥ §, Fafer HRW 3q@ 3 av asrg| A 3o @

AT T QAT g1 FohaT ST, dl 317 Feft 9 FHaT=TRAT Y AT 3 T aY HA gl Swef| 39
FATerT H FHHAATRAT T AT 3T Rkl &2

A) 23 3§
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B) 25 a¥
C)27a¥
D) 28 a%

29) Seeta's mother's sister's only brother is Ramesh. How is Seeta related to Ramesh?

A) Aunt

B) Sister

C) Niece

D) Daughter

29) TYAT T AT 6T TgeT T ShelldT HTS ALY 8| TIaT T T T F FH 872
A) Trhr

B) sge

C) arisht

D) &¢r

30) Pointing Sumana, Samar said, “Her mother’s brother is the son of my mother’s father.” How is
Sumana’s mother related to Samar?

A) Aunty
B) Sister

C) Mother
D) Daughter

30) T T 3R FART HXA §T, T =1 el "ZHHT AT ST $1S A AT o T 7 T § 1" GHA T AT b7
TR O = Rear g2

A)

B) st

C) Arar

D) aér
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31) Among the given pairs of terms, identify the option in which the pair of terms is NOT similar to
each other?

A) JAM - 24
B) BORE - 40
C) KITE - 47
D) LOOP - 58

31) faU aTT Uat & SIS # A, 37 Aereni S qgaret &Y Toretel ual & ST Teh-g@ & HAT o181 872

A) JAM - 24
B) BORE - 40
C) KITE - 47
D) LOOP - 58

32) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:
(A) (B) © (D) 1) ) (3) C))
A) 1
B) 2
C)3
D) 4

32) e 3TehfcT 3ol , et Y 30 i Yeet &l T Hh 2

Problem Figures: Answers Figures:
(A) (B) © (D) (1) 2 (3) C))

A) 1

Pagel70f85



Setld : 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

B) 2
C)3
D) 4

33) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:

A
©/\ OC@ ? @D CCCD@D

(A) (B) © D) (D ) 3) G

A) 1
B) 2
C)3
D) 4

33) fAFAT e 3Tehfcr e & leT €Y 3T i Yt T g1 HYaf?

Problem Figures: Answers Figures:

A
O L0l 2| ‘o dds

(A) (B) © ®) (6)) (03 3) C))

A) 1
B) 2
C)3
D) 4

34) In the following figural series, which answer figure will come next?
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Problem Figures: Answer Figures:
+ +| -+ A-+ OAlA -+
O . ) O o O -0 O
ADOADGAD® ® 900 +|®
(A) (B) © C))
A) 1
B) 2
C)3
D) 4
34) AFATATET 3MThfcT sgelr H, et T 3R 3Tl 3T 3T graf?
Problem Figures: Answer Figures:
+ +| -+|A-+A~-+ OAlA -+
= = _ O O O O 3 O
ADOADSAD® @ ®
(A) ®) © 4

A) 1
B) 2
C)3
D) 4

35) In what way can the terms of the given set be divided into two different sets such that the terms

in each set are similar?
(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) and (8, 27, 125)
B) (36, 81, 125) and (8, 27, 49)
C) (36, 27, 49) and (8, 81, 125)
D) (8, 81, 49) and (36, 27, 125)
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35) fohd g @ 1T a0 A & uel & & faffiet Aet & gefichc fonam ST vl & foh Ucdsh @< & e Th
GEX & HHET §1?

(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) 3R (8, 27, 125)

B) (36, 81, 125) 3iR (8, 27, 49)

C) (36, 27, 49) 3 (8, 81, 125)

D) (8, 81, 49) 3R (36, 27, 125)

36) A big cube is made from 729 identical smaller cubes and is painted on all the faces. What is
the number of smaller cubes that have atmost two faces painted?

A) 562
B) 821
C) 640
D) 721

36) Teh 93T Tl 729 HHTT BIC Gall H TATIT 3T & 31X 58h THT Belehl ol Y ThaT T & | VH BIC
Tl T FEAT Theiet 8, fieteh 3ifRreh & 31f8ieh 2 thoreh 33T gU 2

A) 562
B) 821
C) 640
D) 721

37) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Disabled : Retarded :: Liberated : ?

A) Captured
B) Free

C) Privileged
D) Liberal
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37) Peifof@d ar fashedl # @ Teh 7 TheT Y ST g8 SST A Tgell SIS & HHATY =T &I
a1 AfAHE : FAFA:?

A) g8y

B) Faoes

C) RrwRsRYTC
D) 3ex

38) Select one of the following four options that will make the second pair analogous to the first
pair given as:

(2+3+5) : 30 :: (3+5+7) :

A) 105
B) 120
C) 145
D) 160

38) ATl ar fashedl # & Ush &1 Thel & il gl SIST &l Ggoll SiIS! o HHET ol oal
(2+3+5) : 30 :: (3+5+7) : :

A) 105
B) 120
C) 145
D) 160

39) A, B, C, D and E play a game of cards. A says to B, "If you give me 3 cards, you will have as
many cards as E has and if | give you 3 cards, you will have as many cards as D has”. A and B
together have 10 cards more than what D and E together have. If B has 2 cards more than what C
has and the total number of cards is 133, then how many cards does B have?

A) 22
B) 23
C) 25
D) 35
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39)A,B,C,DIREAIH AT WA & A, BEFEAT g, "I T AA 3FS T §, AN [ATA FIS E &
I & 37Tk I 3ot 81 1S §i9Y 3R LT # 319 Y it ohr$ ST g Y 319k 9 D & et 18

gl AR B il & 91 fAeTent 10 18 § ST D 3R E Gl & el IS A Hh &1 TG BH T CH
megaﬂ?qﬂéaﬁr?d TEAT 133 £ arar B & 91 fohde) &S g2

A) 22
B) 23
C) 25
D) 35

40) A bought 3 apples and 4 bananas for ¥ 80 while B bought 4 apples and 3 bananas for ¥ 95
from the same shop. What is the difference between the price of one apple and one banana?

AR5
B) % 10
C)% 15
D) 20

40) Teh §1 Golel U Ueh oot A Y 3 A 31 4 &hel X 80 F @lleT 3R B o1 4 A9 31N 3 el ¥ 95 & Tlie|
Teh Al 3R Teh Shel I AT o slTel T e FAT 82

A)Z5
B) 2 10
C) %15
D) 2 20

41) Which of the following statements can be used to answer the given question?

Question : What is the radius of the circle P?

A) The diameter of the circle P is twice the radius of the circle P

B) The diameter of the circle P is the longest chord of the circle P

C) lIts areais 12 cm? less than that of a square with side length equal to its diameter
D) Problem cannot be solved using the information given in any of the options
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41) T 31T YT T 30X &of & Tolv AT fd 7 & foha ST &7 39T foham ST FehdT 87

e g P T TAar A g

A) g P I SArE g P & T @ el g

B) ga P& care gd P Y W e Sfrar §

C)  gue et 12 cm? 7 § 37 F97 § FHHHT 56 oiaTS 38 A & SRIe] §

D)  suiera [t off [aered 3 & 91 ST T IUANT ek GHEAT gol SI8T hl off Fehall &

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the figure X?
X 1 2 3 4

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) T R X & AT A 7 1, 2, 3 31k 4 yfafeest 7 @ i a1 g8 o gfafere 872
X 1 2 3 4

A) gfafess 1
B) gfafees 2
C) gfafesa 3
D) gfafers 4
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43) Which of the following options does NOT have the same property as the elements of the given
set?

(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

43) FAe=fafed & @ fone fashed # ST 91T A & dedl & FHTT 0T A¢T 82
(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

44) Which of these options can be judged from one of the remaining three options?

A) Sum of P and Q is more than 100

B) At least one among P and Q is greater than 50
C) At most one among P and Q is greater than 40
D) At most one among P and Q is lesser than 70

44) 3AH & Pl AT [dhed AV il fdehedl H & Teh I 3ThI oI Tehcll 52

A) p 31T Q T 9T 100 A 31fF &

B) p3iIRQ A AT A e U 50 A T &

C) P 3R Q& A U STeT A SITeT 40 W 310 &
D) P3iRQAATH ST A SIS 70 A FAE

45) Which of the following questions can be answered by using the given statements?

Statements:

A) Mark and Steve have a total of 109 marbles.
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B) The number of marbles with Steve is a two digit prime number.

A) What will be the remainder left when number of marbles with Mark is divided by 2?
B) What will be the remainder left when number of marbles with Mark is divided by 3?
C) What will be the remainder left when number of marbles with Steve is divided by 3?
D) What will be the remainder left when number of marbles with Steve is divided by 4?

45) feT 31T HUAT FT 3TIRT I AFATATET H T fhT T2aT FT 3R feam 31 TR &2

hYod :

A) HTeh 3R T & 91 el 109 Fd &
B) T & UTH o sl shl HEAT F 3ehl hl AT TE&IT &

A) ATF & 919 & Fal H T Y 2 F AT R TR e ATHeT 27 gran?
B) A% & urd & dall i dear i 3 A FfSd e W U AWher 41 g2
C) g & urd F il HF T&AT A 3 A TFINTIT el W UTCT Aol T gET?
D) &g & 9re & il T T&TT A 4 A AT FeT T 9T QBT FIT g2

46) Out of the scores of four students A, B, C and D, the score of A is twice of that of B, the score

of B is one-third of that of C while the score of C is 5 times of that of D. If the average score of A, B,
C and D is 24.75, then what is the highest score?

A) 9

B) 25
C) 30
D) 45

46) IR SMET A, B, CHR D, H THR A, A &I TR B A [T &, B HT TPR C o Teh fIgrs g Siafeh
CHIEHR D A5 I | I A, B, C 3R D 71 30 TR 24.75 &, oY ITUAH TR 4T 872

A) 9
B) 25
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C) 30
D) 45

47) P is the brother of Q, Q is the brother of R, and S is the father of P. On the basis of these
relations, which one of the following statements is definitely wrong?

A) Q is the brother of P
B) Qisthe sonof S
C)Pisthe sonof R
D) R is the brother of P

A7) IREP, QFTHS E, Q, RFTHS &, S, P &I AT &1 37 Redl & 3R W), FeaAfaf@ad & @ sia-ar
FU AT ®T & 790 &7

AQ,PaTHaEE
B)Q,Sarsery
CpP, RFICTE

DR, PaT 1S &

48) Among the given quartets of numbers, identify the option in which numbers are similar to each
other based on prime factors of the numbers?

A) 2, 3,8 and 64

B) 21, 63, 78 and 77
C) 27, 81, 243 and 729
D) 12, 21, 68 and 81

48) f&T T TEAT o TseT H 4, 3 fdehoq i ggare &, fSa HEaTt Th-gEt & AR §?

A) 2,3,83T 64

B) 21, 63, 78 3t 77
C) 27, 81, 243 31T 729
D) 12, 21, 68 3iiv 81
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49) In what way can the terms of the given set be divided into three sets such that the sum of
the two terms in each set is equal?

(967, 896, 1086, 1246, 807, 1157)

A) (967, 1086), (896, 1157) and (807, 1246)
B) (967, 1157), (896, 807) and (1086, 1246)
C) (967, 1157), (896, 1086) and (807, 1246)
D) (967, 1086), (807, 1157) and (896, 1246)

49) forer I & fow a1 HH=aw & 9el At et Tl # fFenfara fonar S @ehd &, d1feh e Teeat
% YST T JT9T AT g7
(967, 896, 1086, 1246, 807, 1157)?

A) (967, 1086), (896, 1157) 3R (807, 1246)
B) (967, 1086), (896, 807) 3R (1157, 1246)

C) (896, 1086), (967, 1157) 31X (807, 1246)
D) (967, 1157), (896, 1086) 31X (807, 1246)

50) Letters of English alphabet are arranged in the form of a triangle in a way that the first row has
1st alphabet, 2nd row has next two alphabets and so on. Which alphabets are in the 6th row?

A) KLMNOP
B) PQRSTU
C) IJKLMN

D) UVWXYZ

50) 3ot TOTHTET & 7&RT T Teh TS o T H 3 e ¥ AT TohaT STl & foh Tgoll aferd &
Ugell 38R &, gAY dlehd & 37eTel a1 318 & 3R 58T g 319 81| Y diehT A ahlef & 318N 8?2

A) KLMNOP
B) PQRSTU
C) IJKLMN

D) UVWXYZ
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word.

BLUR

A) hit

B) sharpen
C) bounce
D) fit

52) Choose the correct article to complete the sentence:
She found pen lying under the table.

A) a

B) an
C) the
D) zero

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) This books/ (B) are not (C) for sale. / (D) No Error.

A) A
B) B
C)C
D) D

54) Complete the sentence with a correct phrase. If you want the manager's support you must
the rules.

A) abide by
B) abide on
C) abide for
D) abide at
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55) Fill in the blank with the correct pronoun:
He likes you more than

A) you
B) me
C)it

D) she

56) Fill in the blank with the correct option:

He refused to divulge any details the plan.

A) off

B) with
C) about
D) by

57) Select the right preposition for the blank:
They found him to be the most suitable candidate the post.

A) to
B) for
C) with
D) on

58) Choose the correct option to complete the sentence:
The spotlight faded the houselights came up.

A) if

B) unless
C)and
D) lest

59) Identify the Complex sentence.

A) His interest in the project declined after his wife died.

Page290f85



Setld : 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

B) There is a dearth of new homes in the region.
C) He can't decide whether to buy it.

D) She has always shown great dedication to the cause.

60) Choose the word that is correctly spelt

A) Envison
B) Envision
C) Envesion
D) Ennvision

61) ldentify the synonym for the word — anonymous

A) huge

B) carefree
C) eminent
D) unnamed

62) ldentify the synonym for the word — barbaric

A) smooth
B) drunk
C) hairy
D) brutal

63) Fill in the blanks with the correct option:

Priya karate class every Saturday.

A) attended
B) attend
C) attends
D) attending

64) Fill in the blanks with the correct form of verb:
When | go to university, | in the students' hostel.

A) am staying
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B) will be staying
C) will have stayed
D) was staying

65) Choose the correct verb to complete the sentence:
| could not meet him because he out of station.

A) will go

B) will be going
C) has gone

D) is going

66) Choose the correct verb to complete the sentence:

I at the moment.

A) am travelling

B) was travelling
C) will be travelling
D) travelled

67) Identify the antonym for the word — oblivious

A) aware

B) preoccupied
C) evident

D) blind

68) choose the correct article to complete the sentence:
light was so bright that | had to cover my eyes.

A) A

B) No Article required

C) The

D) An

69) Identify the part of the sentence that has an error:
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| couldn't able to ask my dad permission to watch a movie.

A) | couldn't able
B) to ask my dad
C) permission to

D) watch a movie.

70) Choose the meaning of the italicized idiom used in the given sentence.
The teacher said to the latecomer, "What's your excuse? I'm all ears."

A) going crazy

B) in a hurry

C) very angry

D) listening intently

71) Choose the meaning of the italicized idiom used in the given sentence.

My colleague told me that, if | accepted the new assignment, | would bite off more than I could
chew because | already had a lot of work to complete.

A) have to work hard

B) impress my boss

C) take on more than | can handle
D) eat greedily

72) Fill in the blanks with correct option:

He brings chocolates whenever visits us and takes pet wherever he goes.

A) she/her
B) his/he
C) her/she
D) he/his

73) Fill in the blanks with correct option:
We gave them opinion and they gave us opinion.

A) Our's/Theirs
B) Ours/Their's
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C) Our/ Their
D) Our/Their's

74) Choose the correct option to complete the sentence:
All telephone reservations must be confirmed

writing.
A) by

B) in

C)on

D) to

75) Choose the correct option to complete the sentence:
The load was lifted a crane.

A) by means of
B) through

C) in case of
D) upon

76) Choose the correct option to complete the sentence:
Women played a relatively role in the organisation.

A) major

B) best

C) biggest
D) miniature

77) ldentify the Compound sentence.

A) The engine drives the wheels.

B) We sat down and started the exam under the strict supervision of the teacher.
C) She was always the driving force behind the scheme.
D) They are just empty promises.

78) Given below are 4 words. Identify the one that has been misspelt.

A) Delicious
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B) Sluggish
C) Acceptible
D) Passivity

79) Given below are 4 words. Identify the one that has been misspelt.

A) Abbess
B) Abetment
C) Ablation
D) Acoutics

80) ldentify the synonym for the word — parsimonious

A) fatherly
B) friendly
C) miserly
D) kindly

81) ldentify the synonym for the word — ruthless

A) callous
B) porous
C) viscous
D) ponderous

82) Fill in the blanks with the correct form of verb:
Breakfast cereals with vitamins.

A) are enriched

B) enrich

C) is enriching

D) has been enriched

83) Fill in the blanks with the correct form of verb:
His dog generally everywhere with him.

A) go
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B) goes
C) have gone
D) shall go

84) Select the right verb for the blank:

The court the grandmother, as the guardian of the orphan child.

A) appoints
B) appointing
C) appointed
D) appoint

85) Choose the antonym of the underlined word.
The clergyman wrote an elegy in the country churchyard.

A) Layman

B) Ecclesiastic
C) Parson

D) Pastor

86) Choose the correct article to complete the sentence:
Hari, goalkeeper, saved the match.

A) a

B) an

C) the

D) No article required

87) choose the correct article to complete the sentence:
You should appear calm in interview even if you're terrified.

A) an

B) No Article required
C)a

D) the
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88) Identify the part of the sentence that has an error:
Yesterday, while | was outside, my friend has come to my house.

A) Yesterday,

B) while | was outside
C) my friend has come
D) to my house.

89) Choose the meaning of the italicized idiom used in the given sentence.
The young lady bumped into the little boy so hard that he fell and, then, added insult to injury by

demanding that he should apologize to her.

A) made a bad situation worse
B) scolded him

C) teased him

D) injured him

90) Choose the Pronoun in the given sentence:
The children were arguing among themselves.

A) themselves
B) among

C) were

D) children

91) Fill in the blanks with correct option:
It looks as if it is going to rain, so | can't dispense

A) with
B) for
C) from
D) of

92) Fill in the blank with correct option:

The crisis will soon blow

my umbrella.
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A) in
B) on
C) over
D) of

93) Choose the correct option to complete the sentence:
There was a of traffic as the road was impassable.

A) relocation
B) allocation
C) diversion
D) reversion

94) Choose the correct option to complete the sentence:
Vegetarians have an to meat.

A) enthusiasm
B) aversion

C) attraction
D) affection

95) Identify the Simple sentence.

A) They nearly ate everything before we had arrived.
B) The bee turns nectar into honey.

C) Juliana had a lovely nature so everyone liked her.
D) She tries to be neat, but her husband is a slob.

96) Choose the correctly spelt word

A) Magnifisence
B) Magnifiscence
C) Magnifisense
D) Magnificence

97) Identify the correct synonym:
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Entangle

A) Punish
B) Fend
C) Bend

D) Ensnare

98) Identify the correct synonym:

Dither

A) Exaggerate
B) Agitation
C) Act

D) Calm

99) Fill in the blanks with the correct option:
I tell you, but | forgot.

A) am going to
B) will

C) was going to
D) will try to

100) Select the right verb for the blank:
She carried flowers whenever she the shrine.

A) visited
B) visit
C) visiting
D) visits
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Section 3 - General Awareness

No. of Questions: 50

101) In which city was the 23rd edition of the Asian Athletics Championship conducted?

A) New Delhi
B) Doha

C) Dhaka

D) Sharjah

101) TS vyafedd ATFqIaATIT &7 23497 AEHIOT e e & 3mfard fomar arr ar?

A) 77§ el
B) gt
C) et

D) smetre

102) Which chemical is used as a preservative in acidic foods such as pickles, carbonated drinks?

A) Sodium nitrite

B) Sodium propionate
C) Sulfur dioxide

D) Sodium benzoate

102) 35T @i Yerd o o 3R, wrefees 97 7 aRiers & ®9 & foha W@rafaes gere s 3uier
TR Sirar 82

C) gew STE3iiedrss
D) feae seiive

103) Which one of the following materials is an insulator?

Page390f85



Setld : 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

A) Silver

B) Diamond
C) Mercury
D) Iron

103) fAe=fafed & & i dr qraal faeg i 82

A) widy
B) &R
C) urr
D) aig

104) ‘Prohibition of traffic in human beings and forced labour’ has been added in which category of
fundamental rights of our Indian Constitution?

A) Right against exploitation

B) Right to freedom

C) Cultural and educational rights
D) Right to equality

104) AR HRATT HIGHTeT & Flfeleh HTAHRT A ‘AleTd AR 3N e Holgdl W Tidaer &l fra
Foft 7 T AT &2

A) qirror & Rreer 3TTER

B) Taci=dr &1 3R

C) wiegar 3t e Tt R
D) arer &7 3R

105) Where is the Velankanni Church situated?

A) Goa

B) Tamil Nadu
C) Maharashtra
D) Karnataka
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105) delicheail T gl T€Ud &2

106) The English meaning of the Sanskrit word 'Himalayas', which is the home to the world's
highest mountain peak, Mt. Everest is

A) Roof of the World
B) Abode of Snow
C) Rocky Iceberg

D) Abode of Clouds

106) &l 2Tse; ‘TRATET, ST GfeTdT &t Hol Sl qacl TIEY, ATST TIEC T ER 8, T 3ol 37
g?

A) % 3T & o8
B) 313 3if &
C) grr msgest

D) 31a3 3iTh Fel3sd

107) The Siliguri Corridor, a narrow stretch of land connecting mainland India with the north
eastern states of India is popularly known as

A) Transit route

B) Multimode route
C) Chicken's Neck
D) Peacock's Neck
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107) TS SHIREIT, $1fA T Ueh HehIOT &7 ST R hT HE 31[H I #XA & 3o i Tl & A1y
s §1 95 fore AT & At 87

A) zifse &

B) #edils v
C) Rereg
D) drerferg aieh

108) Among the given the options, identify the incident that took place in the year 1919.

A) Chauri-Chaura Incident

B) Jallianwala Bagh Massacre

C) First War of Indian Independence
D) Non-Cooperation Movement

108) f&T 37T fqshedl H A, a¥ 1919 H G TcaT I Igdle |

A) Bir-=iT Tear

B) snferatarar amer avdgR
C) v R TadFdr GarH
D) sragaier sficierT

109) Who among the following led the peasant movement in Awadh demanding the abolition of
'‘Begar’, and social boycott of oppressive landlords during the British rule in India?

A) Surendra Sai

B) Chittur Singh

C) Baba Ramchandra
D) Madhukar Shah

109) fAeifai@d & & fordel 3raer & fohdTeT 3HTeTeleT &l Acd foha, TSIHH #RA & 33l e &
SRTeT ‘FIR I WcH Flel R GHARRT THIGRT o HIHTTSIHR dfaSehX T HIIT 75 212

A) gl aré
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B) farx e
C) qrer U=
D) srerae e

110) As per Article 55(3) of the Constitution of India, the President of India is elected through which
of the following processes?

A) Territorial representation
B) Functional representation
C) Proportional representation
D) Minority representation

110) $IRCIT HITETT o 3eTeade 55 (3) & HeTAR, HRd & Usgald eAfaied fsmansit & & fras
CaRT Il ST 82

A) yrefre wfafa e

B) srficass gfafafica

C) smrepnferes wfafafeea

D) srewtices yfafafca

111) The Indian government's chief legal advisor and primary law officer is

A) The Solicitor General of India
B) The Chief Justice of India

C) The Secretary, Ministry of Law
D) The Attorney General of India

111) R TIHR o HTI HleeA TellgehR AR TeITeT Flefet HTAHRT Hlef &2

A) ART & TR Aol
B) #1a & Fy wamameder
C) wfia, e sare

D) st o 3relet steel
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112) What is Aditya - L1?

A) New hybrid car developed by Honda Motors, India
B) Battery operated helicopter developed by DRDO
C) First mission of ISRO to study the Sun

D) Industrial robot developed by BARC

112) 3nfecT L1 a1 8?2

A) gisT Alcd, AR gaRT RIS fAd 7% g1sfss FR
B) DRDO @Rt fasfid dedt Farfard defieieex
C) & &7 32T e & fow ISRO T ugell fAereT
D) BARC garT fasfaa iteifie Aee

113) The first edition of Khelo India School Games (KISG) inaugurated by Prime
Minister Narendra Modi was held in which of the following cities?

A) New Delhi
B) Pune

C) Vizag

D) Chennai

113) FITeTHAT 7i¥g AT GaRT 3eHTied Well ST3AT Fehel AFH (KISG) T Tgell HERUT et fied &
O g T & 3mfara o =T ar?

A) 718 el
B) qor

C) dsmar
D) Jets

114) Which Cricket team clinched Ranji Trophy title 2018-19?

A) Mumbai
B) Rajasthan
C) Vidarbha
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D) Jharkhand

114) fra fehche S8 o TUTSIT AT 2018-19 &7 f&ATS Sidar?
A) s

B) qrereame
C) faest
D) s

115) The world's first 5G phone was released in which of the following countries in April 2019?

A) Denmark

B) Singapore

C) United States America
D) South Korea

115) g1 &1 Ggell 5G BieT 3T 2019 H foia=t # & fonay & & ST feam aray ar?

A) 3eTATR

B) fRiamqY

C) sgara Toa 3R
D) gfgyor i

116) In March 2019, who among the following was appointed as the Chairman of Life Insurance
Corporation of India(LIC)?

A) T C Suseel Kumar
B) M R Kumar

C) Varsha Sharma
D) Raj Kumar

116) AT 2019 #, R SiideT STAT fa1a (LIC) & 316387 & & 7 et i@d # & o forgeret foham
IAT?
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A) & & gehrer TAR
B) tv 3R AR

C) g eret

D) 3157 AR

117) Invar, a nickel steel alloy is used in clocks due to which of the following characteristics?

A) Negative thermal coefficient

B) Positive thermal coefficient

C) Low coefficient of thermal expansion
D) High coefficient of thermal expansion

117) AR, Ueh fisher EErer TR 47 1 3uer gfsal & fAsafaf@d 7 @ g faQwdr & wror fahar
ST 87

A) FOTcHeR 2l 0TIH
B) tretierier 2raier aqutieh
C) & ardrr faear ot
D) 3= arder fawar 7ot

118) Which one of the following waves/rays CANNOT pass through vacuum?

A) Sound waves
B) Gamma rays
C) Ultraviolet rays
D) Radio waves

118) fAFafaf@a & & slet & AT/ ol faTel (degH) @ 78T oI Teohell 872

A) eafar aer
B) amrer fopeor
C) qrrearstr fmor
D) Y= ager
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119) The ideals of 'liberty, equality and fraternity' stated in the Preamble of the Indian Constitution
have been taken from the

A) Russian Revolution
B) Irish Revolution

C) French Revolution
D) Spanish Revolution

119) R LTS T 3R 7 G0 T 7ll, FATAT R AT & 3Te2it @1 g shifea & forar
IRAT 2

A) s sifa
B) smafer wifar
C) thar wifa
D) Tt shifar

120) Who among the following appoints the Prime Minister of India?

A) President of India

B) Governor of state

C) Citizens of India

D) Chief Justice of India

120) fAF=Tfaf@d & @ et TR & FereT FHAY Y AP FIcAT 672

A) R & Irsgafay
B) 35 & TrsaTed
C) R & AR
D) s & e w=amamedter

121) Which of the following Articles of the Indian Constitution declares that no person shall be a
member of both the houses of Parliament?

A) Artcle 100
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B) Article 101
C) Article 98
D) Article 99

121) fAeAfaf@d & @ s Sfaeet 1 it @1 e DN Xl & foh IS 8l g fFa dae & &=t
el ol T AgT gIaM?

A) 317E8E 100
B) sreede 101
C) 3re7e0e 98
D) 37 99

122) Onam, the biggest Hindu festival during which snake boat races are conducted, is celebrated
in which state of India?

A) Karnataka
B) Kerala
C) Assam
D) Tamil Nadu

122) 301H, G4 F37 feg Aler, foras et |9 Aterr gl smafara i sl &, 9Rd & fra o
HATIAT SATAT &7

A) Fefiew
B) ater

C) 3ra#
D) affrerg

123) In which of the following regions in India is the Ramman festival celebrated?

A) Malwa region

B) Bundelkhand region
C) Garhwal region

D) Marwar region
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123) AIRA H [FeaAToiad & O 5 &1 & AT 3c0d HATIT ST 872

A) FTerar &
B) ggores ot
C) srgarer &1
D) Arars &t

124) Which of the following communities celebrates the Hemis festival in honour of Guru
Padmasambhava's birth anniversary?

A) Buddhist
B) Jain

C) Sikh

D) Parsi

124) el # & T AT FHSTT & TeHTT I A & TFATA H AT TR HATAT 82

A) segrerstt
B) Sterersit
C) e

D) reeht

125) Cardamom Hills are located in which of the following mountain ranges in India?

A) Vindhya Range
B) Western Ghats
C) Eastern Ghats
D) Aravalli Range

125) HRA & gl qg1{sdl e fi@d & & fohd gad s{@er & &y g2

A)%zmqé?r’ﬂgaw
B) ufeas are
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C)qu’::rr%r
D)mﬁrqé?rsigaw

126) Sir Creek forms the boundary between which of the following two regions of India and
Pakistan?

A) It separates Guijarat state of India from Sindh Province of Pakistan

B) It separates Punjab state of India from Punjab Province of Pakistan
C) It separates Odisha state of India from Sindh Province of Pakistan

D) It separates Rajasthan state of India from Punjab Province of Pakistan

126) &R e R 3R wrferearst & Aeafaf@d Sia @ ar &=t & g feaRar s=rar &2

A) Tg SR 3 TR T Y TTTREAT & TR Il I 3eraT el §
B) ug 91IRd & GoTe =g & UifehEdiel & GoTid 9 O 37el9T il &
C) Ig 9Ra F 3NTRAT TST FT ITihEdTeT & & I T 37697 FaT &
D) Iz IR & TSTEAT TS Sl IIThEdTel & UolTe Uid I 37eTeT il &

127) In support of the Khilafat movement, the Non-Cooperation movement in India was started by
which of the following Nationalist leaders?

A) Subhash Chandra Bose
B) Bal Gangadhar Tilak

C) Mahatma Gandhi

D) Raja Ram Mohan Roy

127) feafaf@d Isgarcy adm3it 7 & foraeh gt fAaThd 3Mierele & TAYT H IR & 3rTgd0eT
3freTeleT ¥ fohaT aram 412

A) gy e A
B) arer aemmer faore
C) mgreaAr amefy

D) yrar wH AlgT T
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128) In which year was the Rowlatt Act passed that was officially known as 'Anarchical and
Revolutionary Crimes Act'?

A) 1917
B) 1919
C) 1918
D) 1920

128) el Tare ford av & qTRA foham aram a1, f9a 3nfieRe dik oY 3RTeTe 3R sifaer 3TaRrer
AT & ATH F AT AT AT?

A) 1917
B) 1919
C) 1918
D) 1920

129) Supreme Court of India has formulated a set of guidelines to be followed for entertaining
letters or petitions recieved by it as PIL(Public Interest Litigation). Which of the following options
falls under the given set of guidelines?

A) Petitions related to landlord-tenant issues

B) Petitions against police for refusing to register a case

C) Issues related to admission into medical and other educational institutions
D) Service matter and those pertaining to pension and gratuity

129) AR & Haed =TTl of PIL(STATed J1fen) & T & 9Tcd GAT IT AT o [daR & foIw
feenfadelt o1 v A ufaurfea fhar §1 Fefaf@d & & Sl a1 fawe g1 fganfadert & de & d9a
AT 82

A) et s RIS sl & Tfera anfarre

B) HATeeT got tet § SR ¥l W gfed & e anfaa
C) faferear iR 3w earfores Team= 7 gaer & wafed Aol
D) Ftesr waeh 3 Feret 3R Fegdr & Hafe A

130) As per Article 53 of the Constitution of India the executive power of the Union is vested in the

A) Chief Justice of Supreme Court
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B) Prime Minister
C) President
D) Speaker of Lok Sabha

130) Rl & HIALTT o HeTeoG 53 oh TR HE hl SRR el

A) sTadH ~arITe & FEd Farareer 7 fAfa §
B) gerrer A A R &

C) eeufa & AT §

D) eher garm & regeT & AR &

131) Which of the following dates is celebrated as the National Technology Day in India to
commemorate Operation Shakti?

A) 29th August
B) 5th June

C) 23rd June
D) 11th May

131) 3ToRereT AfFd &7 3G el & fov fArafaf@a A @ Fia & a@ T8 AeA b feaa &
9 H HATS AT &7

A) 29 3rTEd
B) 5 1
C) 23 51

D) 1178

132) World's lightest satellite weighing only 64 gms named as 'KalamSat' was launched by which
of the following space organizations?

A) Indian Satellite Research Organization
B) National Aeronautics Space Agency
C) European Space Agency

D) Russian Federal Space Agency
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132) farafaf@d 7 & o 37aReT HeTos GaRT ‘SaTHdIe ATHS (929 & Tad gooh 39IIE I gaiad
forar aram a7 TS genT aai Shddl 64 ITH &7

A) TREART 3T J1eTeensT HareeT
B) Seretel Wisifesry TIg wald
C) TRrdrar siafyar worelr

D) :ieaa thater T woidlt

133) Udio, India's first social mobile wallet was launched by which of the following digital payment
start-up companies?

A) MobiKwik

B) TranServ

C) Oxigen

D) State Bank Buddy

133) AT 7 & fohd F3TSiee $arairet 9HE Feré 319 =i GaRT 3R T Tgoll FIHATISIH HldTSel
dlele, Udio st % TohaT a1 UT?

A) arfafeae

B) ziwrs

C) sitereioter

D) e d&w a9

134) The highest Life Time Achievement Award in Sports and Games instituted in 2002 by the
Government of India is

A) Rajiv Gandhi Khel Ratna Award
B) Dronacharya Award

C) Dhyan Chand Award

D) Arjuna Award
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134) HRd YRR aRT 2002 H TATAT Wl 3R 1T & &1 # Hafed A8 <A HAaHe 37ars
(Sha=Taie REHR) leT a1 8?2

A) TS TTTER Gl TeoT RERR
B) gromams qeEsR

C) exarerds TR

P) 31efeT e

135) Which cricketer is named the Goodwill Ambassador for Street Child Cricket World Cup 2019?

A) Mithali Raj

B) Harmanpreet Kaur

C) Mahendra Singh Dhoni
D) Virat Kohli

135) Fe 15es fohehe faea sa 2019 & T foha fohehex it Isfae Trawst A1fAd fohar T g2

A) fRarel T
B) gxaaTsiia ®k
C) Ages g ol
D) farTe el

136) How many constituencies voted in the first phase of the Lok Sabha Elections 2019?

A) 71
B) 81
C) 91
D) 99

136) FAIHEHT TATT 2019 & Tgel TOT H fohelel fiaTat 4731 7 FATereT g3m?

A) 71
B) 81
C) 91
D) 99
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137) Which of the following states did not go to the polls in Phase 1 of the Lok Sabha Elections
20197

A) Andhra Pradesh
B) Assam

C) Bihar

D) Tamil Nadu

137) e & & T &1 T2, Sk THT AT 2019 F Tgel TROT H 77gT UT?

A) 31Ter wger
B) 3rqe
C) Rer
D) et

138) Where in the human body is the urea formed?

A) Liver

B) Kidney
C) Stomach
D) Spleen

138) HAleTd IR H JRAT gl Folcl 572

A) e
B) glz‘rﬁ-

C) 3raATerT
D) cerar

139) Woollen sweaters keep us warm during winters. ldentify the CORRECT reason which
supports this statement.

A) The trapped air in the woollen sweaters is a good conductor of heat
B) The trapped air in the woollen sweaters is a bad conductor of heat
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C) The wollen sweaters reflect the heat away and keep the body cool
D) The wollen sweaters allow air to circulate below the fabric

139) Feil TAe §H AT & GRIeT ITH WA ¢ | SH FHUT T THYT et dTel el hRUT T IgdTed |

A) el TdeX H B gaT, drg FY ISt Tagd gl §

B) 3ol T & %Y gaT, a1 i 3T HaTgsh ey gl &

C) Feft T a9 A Wrafdd aa & 3R #r der@a &
D) 3t T4, gaT Y g F MR TaRT A S &

140) The total number of Fundamental Rights in Indian Constitution after the enactment of the 44th
Constitutional Amendment,1978 is:

A) 6
B) 5
C)4
D) 7

140) 447 FaYTfaeh e, 1978 & fAFATHA & d1e TR AfFeTeT A Hiforh TAFRT i Fer
&1 fohcsi 87

A) 6
B) 5
C) 4
D) 7

141) Ugadi is celebrated as New Year's Day by the people of which of the following states?

A) Karnataka

B) Assam

C) Madhya Pradesh
D) Himachal Pradesh

141) TAFATATET H E el W TS & 91T GaRT JITMET I 7T el o [&eT o T H HATIT ST 572
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A) sefieen

B) 3rgs

C) Fer geer

D) fesm=rer weer

142) The rock-cut temples of Mahabalipuram were built under the patronage of the

A) Pallava kings
B) Chola kings
C) Chera kings
D) Pandyan kings

142) Ge2RT Y SIE & AT T HETETAILA %ﬁﬁ?ﬁﬁﬁm%ﬁﬁ%ﬂ%ﬁgﬂ qT?

A) qeorg TSt
B) gyerr wra
C) =2 e

D) gigarer e

143) Which of the following ridges is located in the northern section of the Central Indian Ocean
Ridge?

A) Nazca Ridge

B) Gorda Ridge

C) Carlsberg Ridge

D) Cocos Ridge

143) feATaf@d & & Pl @1 9ad dhes 7T g AGIATIR Fhesh & 3T H1eT H TUT 87

A) ST T
B) a17et e
C) Frededl Feah

D) sierrd e

Page570f85



Setld : 61814 3 Technical Assistant (LAB) - Chemistry BATCH3 180CT2020

144) Who among the following rulers marked the end of Maratha dominance in Punjab with the
third battle of Panipat in 1761?

A) Akbar

B) Ahmad Shah Durrani
C) Ibrahim Lodi

D) Bairam Khan

144) fArAfafEd araet & @ e 1761 F Irelad S I S151$ & AT GoTe H 7RIS Y33cd & 3
i Rfgad fhar?

145) Who among the following was defeated in the Battle of Plassey in 17577

A) Siraj ud-Daulah
B) Lord Clive

C) Colonel Watson
D) Mir Jafar

145) 1757 # TolrdY & & H fAFTel Qe 7 & leT IRITSTeT §HT AT?

A) RTeT 3g-ater
B) &S Famsa
C) shatef afedst
D) #R s

146) The Bharatiya Janata Party (BJP) is the successor party of which of the following parties,
which merged itself into the Janata Party in 19777

A) Bhartiya Shakti Sangh
B) Bhartiya Jana Sangh
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C) Bhartiya Hindu Sangh
D) Hindu Mahasabha

146) R SteTdr 9ret (BJIP) fw=ifarflad & & fora ardt T Iaurfenrdt aif §, St 1977 & Setar arét
H Ao T g1 718 A?

A) R afed ¥
B) s 5= @wr
C) s g T
D) fég sgras

147) What is the wireless technology developed at Indian Institute of Technology, Kharagpur for
remote monitoring of condition of those patients who are ferried in ambulances?

A) AmbuSens
B) Live-Mont

C) Diagno-ext
D) RemoteAmbu

147) HRAT G EATT GSITR H fAR AT dRReIH cTeheileh I FIT ATH § S Trgold H TH
el aTel FYISIT o1 G TALEToT e

A g
B) smga-Atec

C) srgatr-uaae
D) ferewrg

148) ROSA is an experiment conducted by NASA to power satellites and spacecrafts. ROSA is an
abbreviation for:

A) Research On Satellite Adamance
B) Roll-Out Solar Array

C) Research On Satellite Adaptability
D) Roll-Out Solar Adaptability
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148) ROSA 39argl 3R 3/afRaT ATt & FaiT &7 & foT NASA garT Hanferd Tes ST §1 ROSA
fererenT HigTcd &9 87

A) RE 3iteT deerse ted|
B) Jar-3m3e Aok 3

C) R 3ifet dearrse vseefafad
D) Jrer-31T3¢ Aok vateiafarer

149) In Asian Games 2018, who won the gold medal in Men's Triple Jump Event?

A) Tejinder Pal Singh
B) Rohan Bopanna
C) Divij Sharan

D) Arpinder Singh

149) 2018 TRIATS Well H, Yo 1 feTer 519 g & 0T Yeh fohdel Siiar?

A) afSiex urer R
B) gt Sge=r
C) fefasr eror
D) arfiex M

150) Which of the following awards is given mainly to the overall top winners in the Inter-University
tournaments?

A) Maharaja Ranijit Singh Award

B) Maulana Abul Kalam Azad Award
C) Vijay Hazare Award

D) Santosh Trophy

150) fAz=Tfaf@d & & et A1 RERR HTT &9 @ HR-faeafdedres garie # Fof MY fasrdmsit
fe=m Srar g2

A) RIS 0TSl g e
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B) HieTaT 31eT &elre 31Ta1g REFR
C) faorar g 31a1s
D) g g
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Section 4 - Knowledge of Chemistry

No. of Questions: 50

151) Which of the following will be formed when phenol is brominated in aqueous medium?

A) 2,4-dibromophenol
B) 2-bromophenol

C) 2,4,6-tribromophenol
D) 4,6-dibromophenol

151) ST&T Tohailel ol STl ATETH H SRANTI [hdT STl §, I foleeT 3 & hieT TT FoIcl &2

A) 2,4-sTESTANRGATST
B) 2-srefhaArer

C) 2,4, 6-cTgsANpaATer
D) 4,6-sTsiaRAeiTer

152) The product C in the reaction PhC=CH + PhLi — C, (Ph = Phenyl) is

A) PhC=CHLi + PhH
B) PhC=CLi + PhH

C) PhHC=CHLi + PhH
D) PhCH=CLi + PhH

152) 3fATHAT PhC=CH + PhLi — C, (Ph = fhigel) # 396 C &

A) PhC=CHLi + PhH
B) PhC=CLi + PhH

C) PhHC=CHlLi + PhH
D) PhCH=CLi + PhH

153) A catalytic process in which the catalyst and the reaction mixture are in different phases is
known as

A) homogeneous catalysis
B) heterogeneous catalysis
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C) hypergeneous catalysis
D) hypogeneous catalysis

153) Ig 3cORehT UTohaT T Thgelld! &, fordd Ueh 3cu-eh 3R ITRTHAT THAOT 3erar3rert 3aeadT gld 82

A) g#mRfr 3RoT

B) fasreiaft 3coRor

C) greaehaad 3eRoT
D) greaisiifara SeoT

154) What is the effective atomic number of the central metal ion in the complex [Pt(NHz)4]?*?

A) 84
B) 86
C) 82
D) 85

154) ATSE [Pt(NH3)4]?* F e HTe] 31T shT THTAT IRATY] HEAT fehelall 572

A) 84
B) 86
C) 82
D) 85

155) What will be the molar conductance at infinite dilution (L°) for Al2(SOa)3 at 25°C? Given [9a%* =
65 and °s04?" = 102 mho cm? mole™.

A) 365 mho cm? mole!
B) 436 mho cm? mole™
C) 543 mho cm? mole!
D) 268 mho cm? mole™?
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155) 25°C W Al2(SO4)3 % TIT 31eTdl Tl (L°) R Ao TTeTehced fohelall g1aMT? e 91T 104°%* = 65 3R
195042 = 102 mho cm? mole™ §|

A) 365 mho cm? mole™
B) 436 mho cm? mole™
C) 543 mho cm? mole!
D) 268 mho cm? mole™

156) What should be the ideal value of the critical coefficient for a Van der Waal's gas?

A) 3.47
B) 4.12
C) 2.66
D) 4.02

156) dTel 3T dTed 3 & AT shifdieh 0TI o1 3TN HTeT fohcaT et =g T?

A) 3.47
B) 4.12
C) 2.66
D) 4.02

157) Why does KMnO4 show intense purple colour?

A) Due to metal to ligand charge transfer
B) Due to ligand to metal charge transfer
C) Due to d-d transition

D) Due to light absorption when exposed

157) KMnOa4 g S91aiY 3o7 oFY femmar 87

A) o1 & foreTes FeTR 3XoT 3 HIRT
B) foreres & 41 TeTR 37T & FHROT

C) d-d HehAUT & HROT
D) 3T gled T FehTRT oh JTERNYOT o HROT
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158) Which of the following reactions of carbonyl compounds with Grignard reagent is CORRECT?

A) Acetaldehyde gives primary alcohol
B) Ketone gives secondary alcohol

C) Formaldehyde gives tertiary alcohol
D) Formaldehyde gives primary alcohol

158) feAfaf@d & & Fia @Y [Fierars s1ffisas & ary e D Hr srfhfrar agrg?

A) TR eAIgISS, WUTA® edhigie &aT &
B) frara, Areafde srepigia ST g

C) wirdedierEs, i1 3ehigiel &l &
D) wiaterdigrss, Wafde Tehlglel &l &

159) The alcohol which on oxidation with K2Cr207/H2SO4 yields acetic acid is

A) methanol
B) ethanol
C) phenol
D) butanol

159) a8 Vehlgiel St KoCr207/H2S04 & TS ATarEehior WX Ufafees 3eal Sar g a8
A) gt §

B) g9t &

C) fpaifer &

D) sy

160) What kind of polymer will form when styrene is treated with 1,4-divinylbenzene?

A) Cross-linked polymer
B) Branched polymer
C) Linear polymer

D) Diagonal polymer
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160) ST T Fr JTATHAT 1,4-sSTAATS AT & TS ST &, I fhd TR &1 SgeTh STl g7

A e gy g
B) enf&a sger
C)WW
D) oot ageres

161) Calculate the enthalpy of formation of HI from the data given. The bond dissociation energies
of Hz, Iz and HI are 104, 46 and 87 kcal/mole respectively.

A) AH= 24 kcal
B) AH= -63 kcal
C) AH= -24 kcal
D) AH= 63 kcal

161) f&T 91T 37T T HI & TAATOT ST dATdy GrikedT &1 I0TAT | He, |2 3R HI & S [aaiete Far
S$HLT: 104, 46 3R 87 kcal/mole gl

A) AH= 24 kcal

B) AH=-63 kcal
C) AH=-24 kcal
D) AH= 63 kcal

162) How many constitutional isomers are possible for the molecular formula CsH14?

A)5
B) 4
C)6
D) 7

162) 3TUTdeh HF CoH14h ToIT fehclel HXTITcHe HATTIT HHA 572

A) 5
B) 4
C)6
D) 7
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163) Which behaviour of primary, secondary and tertiary alcohol is CORRECT when reacted with
Cu at high temperature?

A) Tertiary alcohol gives ketone
B) Tertiary alcohol gives alkene
C) Primary alcohol gives alkene
D) Secondary alcohol gives aldehyde

163) rfae, ATEATAS 3R Jlide Icehigiel STd 3T ATIHT T Cu & AT ITATHIAT I &, dd
3oTehT hiel T cTdgR Hel 872

A) I 3Toehlgiel, Hhicle &l &

B) Jirres sreigiet, Jredhiet & §

C) graffier srehlgld, 3Tehld ar e
D) sreafiies sreaigid, 3ifesgees aar g

164) Phenols are more acidic than monohydric alcohols because of

A) aromaticity

B) inductive effect
C) resonance

D) hyperconjugation

164) TohEeh SRUT HIAIBISTZh Joehlgiol shl Jofell A ftheiler 31T8eh 3rFciy &2

A) WARE AT
B) 9O warra
O 3.]@313

D) sifaegeaer

165) The CORRECT order of the increasing pKa values for the following alcohols is:

A) prop-2-en-1-ol < propan-1-ol < 1-phenylmethanol
B) propan-1-ol < 1-phenylmethanol < prop-2-en-1-ol
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C) prop-2-en-1-ol < 1-phenylmethanol < propan-1-ol
D) 1-phenylmethanol < prop-2-en-1-ol < propan-1-ol

165) fAe=Ifafld 3rehigd & fIT T pKHT T TEY heT FAT 72

A) Qg-2-Te-1-3iTeT < WYT-1-34TeT < 1- RpeTsoIfasTer
B) 91ge1-1-37TeT < 1-RheASaIfAUeATol < W9-2-UA-1-3iTel
C) W19-2-ue-1-34TeT < 1-RreTsaf@uaier < Wge-1-3iTer
D) 1-frersaf@asiier < M9-2-Tet-1-31Tel < W-1-3iTeT

166) What will be the expected product when 2,4-dimethyl pent-3-one is treated with iso-propyl
lithium followed by acid hydrolysis?

A) {(CHs3)2CH}>.CHOH

B) {(CH3)2CH}sCOH

C) (CHz)2CHCH20H

D) (CH3)2C(OH)CH2(CHs)2

166) IcITTAd 3cUTG, T 8191 I 2,4-ST3THATS Uoe-3-det Sl JTATHhAT 3msar-aiarae fefdaa &
gl & 31K 38 91¢ 3 grEsifaray a7

A) {(CH3)2CH}2CHOH

B) {(CHs)2CH}sCOH

C) (CH3)2CHCH20H

D) (CHzs)2C(OH)CH2(CHs)2

167) Which product will be formed when propanoic acid is reacted with excess MeLi followed by
hydrolysis?

A) Butanal
B) Ethanal

C) Methyl propanoate
D) Butan-2-one
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167) WYATSs 3% & TaRed MeLi & @1 TATHAT e 3R 30% a6 STA-31T8eT J, HiT AT
3cUTe, Sl 872

A) seeter

B) gdater

C) fAurse giueinte

D) sgeet-2-ae1

168) What will be the possible product when CH3sCOCI is treated (CH3)4Sn?

A) Butan-2-one
B) Propanoic acid
C) Propanal

D) Propan-2-one

168) STd CH3COCI & JfRTHAT (CH3)4Sn T RIS AT &, I THT TG FIT T2

A) see-2-ae1
B) giusiise 315
C) wrdeer

D) graet-2-aet

169) A group of particles held together in anyway like micelle may be regarded as

A) aggregate
B) flocculate
C) coagulate
D) precipitate

169) Tt 1 fordll Seh R & TARe S 3T 0Tt o Teh Heqg Y Fovdieh & 3 AT ST Hehell 87
A) terre

B) weitagerc

C) ntagere
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D) Rifafee

170) When negatively charged Agl is coagulated with equal volumes of the given electrolytes, what
will be the minimum molar ratio of concentrations of these electrolytes?

The electrolytes are: NaNOsz, Ba(NOs)2, AI(NO3)s and Th(NOs)4
A) 1:2:3:4
B) 1.3:2:1
C)4:3:311
D) 4:3:2:1

170) STe ASRIcHS FT T TR Agl T f&T 31T SAFeIalse & SRR AT & 1Y Tehied [T ST &,
oIS $oT GAFCINATSE T HGcll T #eTcdH HIGR ITTdl TehcleT glam?

Solgelaise & NaNOs, Ba(NOs)2, Al(NOs)s 3iR Th(NO3)4

A) 1:2:3:4
B) 1:3:2:1
C) 4:3:3:1
D) 4:3:2:1

171) What will be the order in third ionization energies of group 13 elements?

A)B>Ga>Tl>Al>In
B)B>Ga<Tl>Al>In
C)B<Ga<Tl<Al<In
D)B<Ga>TI<Al>In

171) Heg 13 dcal o THER ITAARI0T Sail H e FT g

A)B>Ga>TI>Al>In
B)B>Ga<TI>Al>In
C)B<Ga<TI<AI<In
D)B<Ga>TI<Al>In

172) Which complex among the following is the inner metallic complex of first order?
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A) Na[Co(acac)3]
B) [B(acac)z][FeCl4]

C) Na[Co(NO2z)s(acac)s]
D) [Cu(acac)s]

172) foaeT qAfSeAl & & et € wua HST v iy arg aafee §2

A) Na[Co(acac)3]

B) [B(acac)z][FeCl4]

C) Na[Co(NO2)3(acac)s]
D) [Cu(acac)s]

173) How is the acid dissociation constant of a weak acid (Ka) related to the concentration of the
acid and its equivalent conductance (l)?

Let the conductance at infinite dilution=I°. (Symbols and notations carry their usual meaning)

A) Ka=a?C?/(a-a)

B) Ka=a?C/a%(a-a)
C) Ka=02C/a®(a’+a)
D) Ka=0?/Ca%(a®-a)

173) Giel 375 (Ka) o 3o faTsteT FEuRieh o, 375 & Hleadl 3R 38 o dlelehcd (I) & ATy
Y Fafad g2

3Tl Tofdl I Alelehea=1° &1 (F=gl 3R Fehdl & 379el Trerfele 378 il ©)

A) Ka=02C?/(a%-a)

B) Ka=a2C/a%(a°-a)
C) Ka=a?C/a®(a’+a)
D) Ka=a?/Ca®(a°-a)

174) Which of the following equations is CORRECT?

A) Specific conductance = conductance x cell constant
B) Specific conductance = conductance/cell constant
C) Specific conductance = conductance x resistance
D) Specific conductance = conductance/resistance
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174) fFT A & PleT AT THRIOT Tel &2

A) T3ferse aTeehcd = ATaldhed x ol TEARTH
B) fafarse arciehca = Araidhca/de TR+
C) fafarse arelehed = ATelehcd x UTaRTer

D) fafarse arciehca = ATaldhca/giakIy

175) What will be the Ecei value of the cell given? Zn/ZnSO4 (0.002M)//ZnSO4 (0.2M)/Zn. Given
EOZn2+/Zn =-0.76 V.

A) 0.0295 V
B) 0.118 V
C) 0.059 V
D) (-0.059) V

175) T 31T FIfCSHT ST Ecenn ATeT fohct=IT g2

Zn/ZnSO4 (0.002M)//ZnSO4 (0.2M)/Zn
E%2n2*zn=-0.76 V fear s=aT &1

A) 0.0295 V
B) 0.118 V
C) 0.059 V
D) (-0.059) V

176) There are five molecules in a vessel with velocities, 1, 4, 7, 9 and 10 m/s. What will be the
ratio between their root mean square and average velocity?

A) 3.126
B) 1.133
C) 0.882
D) 2.234
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176) 1, 4, 7, 9 3R 10 m/s 33T & A1 Teh UTo H GI 3707 | 3eTeh Hel ATEY a7 AR et 391 & oy
3FeTqTeT fohctetr gram?

A) 3.126
B) 1.133
C) 0.882
D) 2.234

177) What will be value of "b" with respect to the radius of each gas molecule in the Van der
Waal's equation of state? Consider the radius as "r".

A) 2x(2/3)Tr3
B) 4x(4/3)mr3
C) 4x(8/3)tr?
D) 3x(16/3)1r

177) dTeT ST aTed T, 3T FHIRIOT & Todeh 316 30T ol THAT & HegsT H "b" o1 HIeT fehcell glamm?
BT &1 r' & 9 H AT of|

A) 2x
B) 4x
C) 4x
D) 3x

2/3)re
4/3)1r3
8/3)1r?
16/3)1r

P~ o~ o~ o~

178) What will be the average kinetic energy in calories for 51 g of NHs at 37 °C?

A) 3.77 kcal
B) 1.26 kcal
C) 2.79 kcal
D) 4.65 kcal

178) 37 °C WX 51 g & NH3 & fIT ShelRT H 31 d st Foit fohdeir 81912

A) 3.77 kcal
B) 1.26 kcal
C) 2.79 kcal
D) 4.65 kcal
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179) Which reaction among the following generates H202 from hydrazine?

A) NH2NH:2 treated with excess ozone

B) NH2NH:2 treated with water

C) NH2NHz2 treated with carbon dioxide
D) NH2NH: treated with excess oxygen

179) o<1 & & PisT AT JTRTHAT 88511 T H202 3o Xl 67

A) 3faReFd 3T & a1 FITRATRRAT NH2NH:
B) areit & @rer 31fARRRIT NH2NH:

C) et ST33iaraTss & A1 ATAHRAT NH2NH:
D) s1faRera 3iferdisteT & arer AR RAIT NH2NH:

180) What are the products formed when NHs is treated with NaOCI?

A) NH2NHz and NH4OH
B) NH4Cl and NHCl

C) NH2NH2, N2, NaOH and NH4Cl
D) NaOH and Hz

180) ST NH3 Fr 31fATHAT NaOC| & BIcT §, A« Pisd & 3cUTE SeTd 872

A) NH2NHz2 31 NH40H

B) NH.ClI 33T NH:Cl

C) NH2NH2, N2, NaOH 31k NH4Cl
D) NaOH 3iR Hz

181) Which Grignard reagent should be chosen to react with CO:2 to prepare 2, 2-
dimethylpropanoic acid?

A) s-butylMgBr
B) t-butylMgBr

C) iso-propylMgBr
D) n-butylMgBr
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181) 2, 2-3BAABANTAISH 3ol TR el o ToIT CO2 & ATY TRTHAT 6T & ToIT shleT A1 RIS
T AT ST AMT?

A) s-butylMgBr
B) t-butylMgBr
C) iso-propylMgBr
D) n-butylMgBr

182) Which is the CORRECT statement regarding electrophilic or nucleophilic attack on the
pyridine ring?

A) 2, 4 and 6 for electrophilic attack
B) 3 and 5 for nucleophilic attack
C) 3 and 5 for electrophilic attack
D) 2 and 6 for electrophilic attack

182) UrsdISTeT R3T W SolareiaRT31T AT ATTHSHEN THAUT o IR H i AT HUT TLT 872

A) gorareleRTel 3TehdTT & fT 2, 4 31K 6
B) anfayerreft 3msheror 3 forw 3 31 5

C) gorgreleRmef 3MhA0T & fAw 3 31k 5
D) serergierraft 3msheror & fow 2 31k 6

183) Which of the following compounds are formed when calcium salts of propanoic and ethanoic
acids are heated together?

A) Butene

B) Ethanoic acid
C) Propanoic acid
D) Butan-2-one

183) ST WUaAiseh 3R TS 31 b hioRIAH JIG0T Ush ATY IRH U J1d §, a9 s=ifai@da
iRt & T Pl AT TIaT 872

A =dm
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B) vysitse 35
C) Wigsitses 3For

D) sqeet-2-ae

184) Which compound will be formed when propanoic acid is treated with HN3 in presence of
H2S047?

A) Methanamine

B) N-methylethanamine
C) Ethanamine

D) Dimethyl amine

184) H2S04 1 3uTEATT F ST WIdsiigeh 315af ST ATATHAT HN: & RIS SATAT §, I il 41 Aifas
CEE I

A) A3

B) N-umgeTaa3ti
C) v

D) srsfrerser smrsa

185) Which acid will be formed when propene is treated with CO and steam under high
temperature and pressure in presence of HsPO4?

A) Propanoic acid

B) 2-methylpropanoic acid
C) Butanoic acid

D) Propanone

185) H3PO4 &1 3ufeAfa & Sia wideT i 31fATHAT CO T s S § 3R 3= aga= iR eaa &
119 feT ST § A9 hleT AT 35T I191?

A) QrgeTse e
B) 2-fengeriustss et

C) syeaitgs 317
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Dhiic

186) What kind of stereoregularity will be obtained in the polymer when TiCls and EtsAl is added to
propene to form polypropylene?

A) Syndiotactic polymer

B) Atactic polymer

C) Syndiotactic and atactic polymer
D) Isotactic polymer

186)ﬁ3ﬁqﬁ3ﬁaéwaﬁé5maam?rﬁﬂcmﬂtawﬁwmﬁ%,aaagaaﬁmw
&1 TR afaaar ured gefr?

A) fafrsantface agas

B) 37 e e

C) fafegeiit e iR 3t fes agors
D) gt faes agos A

187) Which of the following is a polyamide?

A) Orlon

B) Nylon 6

C) Terylene

D) Polyvinyl chloride

187) foia=T & & sl AT UITIITATSS £2

A) sircter

B) SmretieT 6

C) 8T

D) qrehfasiis T FeiNres
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188) Which dye will be obtained when dimethyl aniline is condensed with benzaldehyde at 100 °C
and H2S04?

A) Congo red

B) Rosaniline

C) Malachite green
D) Ramazol

188) S« SIBTHATSH U Toled T TEAT 100 °C W deollesg188 R H2S04 o ATY HIAT JATAT &, I
hisT TT SIS ITCd B2

A) & 38

B) JafafoeT
C) Aorse M
D) zarsier

189) Calculate the maximum work which can be obtained when 28 g of nitrogen is reduced from 10
to 1 atm pressure at a constant temperature of 27 °C. What will be the AU and q values?

A) W =1.382 kcal, AU =0 and q = -1.382 kcal
B) W =-1.382 kcal, AU = 0 and q = 1.382 kcal
C) W =-1.382 kcal, AU = 2.764 kcal and q = 1.382 kcal
D) W =-2.498 kcal, AU = 0 and q = 2.498 kcal

189) 27 °C & &R dT9HTT 9T S ATSclole T 28 g, 10 ¥ 1 atm &a1d & forw 3r9=R¥d fhar Sirar §,
s 9TCd glet aTer 31Teas ST i 10T Y| AU 3R g & AT fohdsy g

A) W = 1.382 kcal, AU = 0 31T q = -1.382 kcal
B) W =-1.382 kcal, AU = 0 3iR q = 1.382 kcal
C) W =-1.382 kcal, AU = 2.764 kcal 3iR q = 1.382 kcal
D) W = -2.498 kcal, AU = 0 31K q = 2.498 kcal

190) Which of the following compounds will undergo tautomerism?
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[T
0|
ol
|

—

190) &1 & @ leT &1 T TATaIad & IJRN?

| L

B) |
[]

oy )

ik

Jes

191) What are the products formed when p-methylphenol is treated with CHClIs in presence of a
strong base?

DHC

A) @
e

CHC:

C) HD@EE + H:@rﬂe

D) FC@—'.'E
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191) 9o &TR T 3ufEAfa & 39 p-TAursafthaier 61 3fRfHAT CHCl: A 318 AT §, a9 it ¥ 34T
dold 87

OHC

A) |uo —@—ms

CHC

B) ﬂ@m .
e

CHC

CHC
C) ﬂS@hE + 43@hh

=

D)

192) Which rate expression about enzyme catalyst is acceptable? The reaction sequence:
k'. 'I':E

E+5 —— ES = E+Pmduct
kz

A) rate = ks{[EJ+[ES]M{1+(ko+ks)x1/[S]}
B) rate = ka{[E]+[ESI}/{1+(ka+ks)/kixL/[S]}
C) rate = ka{[E]+[ES]M{(k2+k3)/kax[S]}

D) rate = ks{[E]+[ESI}{1+(ka/ki)x1/[S]}

192) USITSH 3cUTeh & HH H shieT AT eI(XC) hoTeh TR 82 HTATHAT 3Teshe &
K, K,

E+S =—— E5 — = E +Podud
k2

A) rate = ks{[EJ+[ES]M{1+(ko+ks)x1/[S]}
B) rate = ka{[E]+[ESI}{1+(ka+ks)/kixL/[S]}
C) rate = ka{[E]+[ES]M{(k2+ka)/kix[S]}

D) rate = ks{[E]+[ESI}{1+(kalki)x1/[S]}
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193) An amine complex of cobalt has a molar conductivity of 430 mho. It gives 3 moles of AgCI
with AgNOs. Which formula correctly satisfies the given observations?

A) [Co(NHs3)sH20]Cl2
B) [Co(NH3)sCl2]Cl
C) [Co(NHs3)3Cl3]

D) [Co(NH3)e]Cls

193) FldTeT T Teh HATZ Hhel 430 mho FT HIGR AT &l &1 I§ AgNOs & T AgCl & 3 Hled
ST &1 ShisT AT FF 1T 1T GAAETHUI T HET SaT F G HLcll 872

A) [Co(NH3)sH20]Cl2
B) [Co(NH3)sCl2]Cl
C) [Co(NHs3)3Clg]

D) [Co(NH3)e]Cls

194) What will be the Ksp value of AgCI from the given cell whose Ecen = 0.0675 V?
Given cell: Ag/ KCI (0.2 M) (Saturated with AgCl) || KCI/Hg2Cl2/Hg and Ecen = 0.315 V at 25 °C.

A) 0.0789
B) 0.0684
C) 0.684
D) 0.789

194) f&T 1T FIfSSHT & THHST Ecell = 0.0675 V &, AgCl &T Ksp HATT Thl=AT 1om?
fem arar AfSsaRt: Ag/ KCI (0.2M) (AgCI & FTY ) || KCI/Hg2Clz/Hg 3R 25 °C W Ecel = 0.315 V

gl

A) 0.0789
B) 0.0684
C) 0.684
D) 0.789

195) What will be the number of binary collisions per mL per second of H2 gas at 1 atm
and 27 °C? Consider the diameter of H2 molecule is 1.35 A.

A) 212x107
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B) 22x107
C) 1726x107
D) 316x107

195) 1 atm 3R 27 °C 9 Hz 319 & it @ehs Ui mL i3l Hereee S T fohefell 1af? Ha 39T
<gTE &1 1.35 A AT o |

A) 212x107
B) 22x107
C) 1726x107
D) 316x107

196) What change in oxidation number will occur when NH20H is present in alkaline solution?

A) From-1t0 0
B) From -1 to -3
C) From -1 to (0 and -3)
D) From -1 to (1 and -2)

196) ST& NH2OH &7 faeraiet # HIS[g & oa iTerdiehioT AT & -7 GRacieT glam?

A)1d0
B).13@-3
C) 1@ (03 -3)
D).1& (13w-2)

197) What happens when sodium salt of diethylmalonate is treated with ethylchloroacetate
followed by KOH and HCI at high temperature?

A) HO2CCH2CH2CO2H

B) HO2CCH2CH2CH2CO2C2Hs
C) HO2CCH2CO2H

D) (HO2C)2CHCH2CO2H
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197) T BT § 51 SISUfATA e & WIZIH ofaur &y 31fATRIT vicaaRvdRe Faiarg 3l 3a &
TG, 3Td d9ATT I KOH 3 HCl |87

A) HO2CCH2CH2CO2H

B) HO2CCH2CH2CH2CO2C2Hs
C) HO2CCH2CO2H

D) (HO2C)2CHCH2CO2H

198) Which structure of phenolphthalein makes it appear pink in alkaline medium?

A) T s,

B)| ~ T

e " -
I
HO, = ;':-1 oH
L LY
C) e o
[‘____.__J\.._i]__iﬁ
o

) - rij{j

B)| — T =
o
q:""lﬂ".‘ a-_\.:\-_\ oH
DY
et -""-H'_"_E--'"
C) ___,.ﬁ._--__:ﬁ
(LI
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D)

199) The efficiency of a Carnot cycle was found to be 1/4. When the temperature of the source was
increased by 50 °C the efficiency changed to 1/2. What will be the source and sink temperature?

A) Source temperature = 200 K and sink temperature = 150 K
B) Source temperature = 400 K and sink temperature = 100 K
C) Source temperature = 250 K and sink temperature = 100 K
D) Source temperature = 300 K and sink temperature = 200 K

199) =il Teh Y S&TdT 1/4 ITS IS | ST B T dT9HT 50°C A SoTAT AT, S&7dT 1/2 H 9 15| Jid
3R @ amaT fhd= gier?

A) Fre amaAT = 200 K 31X & ara# T = 150 K
B) @ ara@TeT = 400 K 3R &% dr9emT = 100 K
C) gra arg&TeT = 250 K 3R f&e &A= = 100 K
D) @et ara@rT = 300 K 3R e ar9e T = 200 K

200) How many optically active isomers are possible in case of the given compound? The
compound: HOOC(CHOH)3COOH

A) 4
B) 2
C)1
D) 3

200) feT 31T iR & AT H fohder TcaTd 9 & AfohT TATTIT THT &2 JiTh:
HOOC(CHOH)sCOOH

A) 4
B) 2
C)1
D) 3
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